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1. Solve these expressions:

a.  12.22 -  =  					b.  20.13 + 4  =  			

2. Solve.  Jessica used 3 cups of milk and 2 cups of water for her cookies.  About how much milk and water did Jessica use?																							

3. Solve.  There are 12 energy bars in a box.  Mr. Parks needs 324 bars to get him through the rest of the school year.  How many boxes will he need to purchase?			

														

4. Write in standard form: eighty-seven thousand, two hundred sixty-nine and eighty-six ten thousandths												


Wednesday HOMEWORK, January 21		Name								
1. Solve.  Coach Miller had 26 feet of rope and gave away 14 of the rope to DuPont Hadley’s football coach.  How much rope did he have left?
														

2. What is another way to write 76.33? 	a.  76	b.  76	c.  76	d.  76	

3. Solve.  19  +   9.75 = 			  (FRACTION FORM)

4. Order from least to greatest.   0.34, 0.034, 4.3, 3 _____________________________________

5. Write in standard form.  The oranges weighed ninety and four thousand two hundred ninety-six millionths pounds.  Write ninety and four thousand two hundred ninety-six millionths pounds in standard form.
						

Thursday HOMEWORK, January 22			Name							

1. Solve. Marquise jumped 12.8 meters while James jumped 7 meters.  About how far did Marquise and James jump? 				FRACTION FORM: 			

2. Compare using <, >, or =.     0.345  ______  

3. Compute. Write the following improper fractions as mixed numbers.

a.    			b.    			c.    		

4. Solve.  Cards are packaged 15 to a box.  If Alyssa needs 347 cards, how many boxes does she need to order?  			  How many cards will she have left over? 		

5. Estimate. 57  +   76.5 =  			 (Answer in DECIMAL form)


Thursday HOMEWORK, January 23			Name							

1. Estimate. A brownie recipe requires 5 cups of flour and 7 cups of sugar.  About how much sugar is needed?							 					

2. Compare using <, >, or =.        ______  0.8

3. Place Value. In the number 2,309,007.16845, name the VALUE for the digits indicated below in a, b, and c.
a. 7  					b.  3  					c.  5  				

4. Order from least to greatest.  2.14, 214, 0.214, 21.4, 0.0214					
										
5. Solve. 6  +   10  =  			
